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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)

(ii)

(iii)

(iv)

(v)

(vi)

The question paper comprises three Sections, A, B and C. There are 30
questions in the question paper. All questions are compulsory.

Section A — all questions / or parts (question no. 1 to 14) thereof in this
section are one mark questions comprising MCQ, VSA type and
Assertion—Reason type questions. They are to be answered in one word
or in one sentence.

Section B — question no. 15 to 24 are short answer type questions,
carrying 3 marks each. Answer to these questions should not exceed 50 to
60 words.

Section C — question no. 25 to 30 are long answer type questions,
carrying § marks each. Answer to these questions should not exceed 80 to
90 words.

Answer should be brief and to the point. Also the above mentioned word
limit be adhered to as far as possible.

There is no overall choice in the question paper. However, an internal
choice has been provided in some-questions in each section. Only one of
the choices in such questions have to be attempted.

(vii) In addition to this,gamte instructions are given with each section and

question, wherevg& essary.

&6

Q\QQ} Section - A
1. Define elect@sitivity.
OR
The atomi¢ radii-of first group elements are given below :
Group-I'element Atomic Radii (pm)
Na 86
K 231
Rb 244
Cs 282
State the reason behind the observed trend in the above elements.

31/3/2.
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2.  HEEIASH e fhE YRR A 8 ?

3. U HEA 3(a) ¥ 3(d) T <t 7E arferent W 3nUTG § | 35 dlfeteh § AiEST & ARAITS
3E1ueh BHM (TSH) % & feu 71T € | $9eh1 S8 ohteh e fou 710 weai o 3o = feu
T ITTE 3T TSI U TR Hehodm1aTi 31 ST o 3MYR W T |

g ufer = (mU/L) = (mU/L)
18 — 29 94 0.4 - 2.34 mU/L <0.4 mU/L
30 — 49 =¥ 0.4 — 4.0 mU/L <0.4 mU/L
50 — 79 o 0.46 — 4.68 mU/L <0.46 mU/L

YRS IETIh BTHM o1 T ST g i ferfa & afgetd wited o aw=r, By i 5=
T THF qT W 6 feafa § ama wu 31 Siftem ® gt § | 5gaa U srfee §
5% ATEATE HB TR h AT h! THEA3] & fifed & STafeh Tl o § q&u] h!
gfcreraar 3% & maraﬁsg@waﬁmﬂmsaw 39k TCF T < @all | gfg
TaT R, 2013%:31%21?1%@‘%: TSH 37 & Ui § his TeY &l IR 7 | 9 2017
SR 7 6 o R S 7y ) e et i % e TSH
mwmﬁ@wﬁngﬁwwﬁm%l

(a) 35 T8 Tl gfget o1 TSH &R 6.03 mU/L 2 | 30 &R i It 6 & fou

I 379 WIS § 1 gREd HET =R ? 1

(b) wfEe e 3T TSH &R o 3 Hehe il A&l & 7 1

() T TSH &R & 9iony 1 3eoi@ hifore | 1

(d) UrERIEE Uiy gr |Tierd B o I o foTu 3tRerl @ivs 1 ™ fafgu | 1
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2.  How are covalent bonds formed ?

3. Questions numbers 3(a) to 3(d) are based on table given below. Study the
table in which the levels of Thyroid Stimulating Hormone (TSH) in
women are given and answer the questions that follow on the basis of
understanding of the following paragraph and the related studied

concepts.
Age Range Normal (mU/L) Low (mU/L)
18 — 29 years 0.4 —-2.34 mU/L <0.4 mU/L
30 — 49 years 0.4 — 4.0 mU/L <0.4 mU/L

50 — 79 years 0.46 —4.68 mU/L <0.46 mU/L

Women are at greater risk for developing abnormal TSH levels during
menstruation, while giving birth and after going through menopause.
Around 5% of women in the United States have some kind of thyroid
problem compared to {-@%ﬁ’ men.-Despite claims that high TSH increases
your risk for heartedisease, a 2013 study found no link between high TSH
and heart dis@&%s'. But a 2017 study showed that older women are
especially %lek for. developing thyroid cancer if they have high TSH

levels along with thyroid nodules.

(a) A 35/year.old woman has TSH level 6.03 mU/L. What change should

she bring in her diet to control this level ? 1
(b) When do women face a greater risk of abnormal TSH level ? 1
(c) State the consequence of low TSH level. 1

(d) Name the mineral that is responsible for synthesis of hormone

secreted by thyroid gland. 1
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4. U GEN 4(a) ¥ 4(d) % IR R feu MU 3R 3R wefid Ut ME Geheutati i
AT o IR TG :
fogtt sia vRa o1 Ted 3Afus e oty § 3 4uR % ge8 S 971 § 9w g | fogh
Ffg % TR hT GAAT 4.0 km?3 TAT 351 T &% 52 km?2 B | TR 3T
=g, TRt 1 wet STYfd 7o 1000 MW Safes]d 31 ohid | fohal SIran 2 |

fegtt sty fotiar =61 foma @1 8 | wforor afshamandt st gret ot Ig7om 3 1980 & 2014
T fegll oty o foi § TG o1 Aqcd fopal | I8 folly w8l o fHamfedi o foeamm
qAT Go TGS h TATeRof HHE3Ti & 39 & & HRUT AT | 39 & % 1,00,000 ¥
3T AT 379 AT o JTUHR o foTq Srelehtei = Il TeTs del, feh HRoT 39
TS % B H el g8 |

(a) SieTioed fohdl SehT WTed b1 STl 8 7

(b) 1 MW i ufeams fafgu |

(c) Teedtsia & famfor @ g9 areft g1 &1ft 1 Ieoi@ hifT |

(d) I TS ITATID HaT8 | oA TS h g W i Sman g 2

5. I3 aw X 3T SATeTge ST ] | 3Ny 3rad et # 36 o < feufa gl
(a) WYg 1qen 3eEd 39
(b) w@zaw:mﬁsﬁ ®
(©) wga'lgawaw@}
(d) mgwam&
N Frern
T X’ ﬁaﬁ%‘{mﬁaﬁm 13 %, % SR # = feu 7 At w foam Sifu -
(A) I8 Iy SHATagTse ST # |
(B) 3Heh! GAISIHaT 3 2 |
(C) 38 FeiTze 193 XCl, 7 |
TTH HE U B
(a) e (A)
(b) e (B)
© (A) 3 (C)

T

@ (&), (B) 3R (C) 1
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4. Answer question numbers 4(a) to 4(d) on the basis of your understanding
of the following paragraph and the related studies concepts.
The Tehri dam is the highest dam in India and one of the highest in the
World. The Tehri dam withholds a reservoir of capacity 4.0 km® and
surface area 52 km?2. It is used for irrigation, municipal water supply and
the generation of 1000 MW of hydro electricity.
The Tehri Dam has been the object of protests. Environment activist Shri
Sunder Lal Bahuguna led the “Anti Tehri Dam Movement” from 1980s to
2014. The protest was against the displacement of town inhabitants and
environmental consequences of the weak ecosystem. The relocation of
more than 1,00,000 people from the area has led to protracted legal
battles over resettlement rights and ultimately resulted in_the delayed
completion of the project.

(a) How is hydropower harnessed ?
(b) Define 1 MW.
(c) Mention two disadvantages of constructing Tehri Dam.

(d) What happens when water from great heights is made to fall on
blades of turbine ? 1

5. An element ‘X’ is forming an acidic oxide..Its position in modern periodic
table will be

(a) Group 1 and Per

(b) Group 2 and
(¢) Group 13 eriod 3

(d) Group ]@d Period 3 1
OR

Consider the following statements about an element ‘X’ with number of

protons 13.

(A) It forms amphoteric oxide
(B) Its valency is three
(C) The formula of its chloride is XCl,

The correct statements(s) 1s/are
(a) only (A)

(b) only (B)

(¢) (A) and (C)

(d) (A), (B)and (C) 1
31/3/2. |EEH 7 P.T.O.
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6. I3 ToA fger ‘A’ BfewnAfer foeram i Termst &t <a1 2 | faerm ‘A’ ° foreft 3=
St forera ‘B’ sl firet o Tetrsht T foreqed 21 Srar @ | faermy ‘A’ 31 B o fore &
A HYTTI R ?
(a) AYEA &R 2 a1 B g @R |
(b) ATES FEAT AU B A AR |
() ASpHTE ARG AN BHIpH 7TAHAZ |

(d) ASTpH 78 %udu B pH 78 31fers 2 |

7. Tfefea o @ foraw 7ot uered <t vgeH ufafaa 78 et ® 7
(2) YW S
(b) Toreeam ufsran gra fsreeett ot & T

N
8. mwﬁmﬁamﬁmﬁxgﬁw@m@w | 1 gt et &
ST o FHT <l oI TTT. | ST&07 Shid TR I U1 AT b € A ST ST ST T Safeh el

B &1 St & A1 1A a1 B & Fepe febra Shere @i & —

(@) A e T 3T STUHTSIeRT hl a2 B % ek Ie HR@HI < |

(b) B fehe T 3R STUHTSIeRT 6t AT A o ek Ie -Hr@HI <l |

(© A frere o Taers dedt fmiur 1 qen B % ke a9 3R sramTsien I |

(d) B fehe oie TaTares st fmiur 6 aur A & fehe |1 TR STquTSiehi i | 1
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6. An aqueous solution ‘A’ turns phenolphthalein solution pink. On addition

of an aqueous solution ‘B’ to ‘A’, the pink colour disappears. The following

statement is true for solution ‘A’ and ‘B’.

(a)
(b)
(©
(d)

A 1s strongly basic and B is a weak base.
A 1s strongly acidic and B is a weak acid.
A has pH greater than 7 and B has pH less than 7.

A has pH less than 7 and B has pH greater than 7. 1

7. In which of the following, the identity of initial substance remains

unchanged ?

(a)
(b)
(©
(d)

Curdling of milk
Formation of crystals by process of crystallisation
Fermentation of grapes

Digestion of food \@ 1
S\
¥
NG

8.  Several factories~were pouring their wastes in rivers A and B. Water

samples we@collected from these two rivers. It was observed that sample

collected from river A was acidic while that of river B was basic. The

factories located near A and B are

(a)
(b)
(©

(d)

31/3/2.

Soaps and detergents factories near A and alcohol distillery near B.
Soaps and detergents factories near B and alcohol distillery near A.

Lead storage battery manufacturing factories near A and soaps and
detergents factories near B.

Lead storage battery manufacturing factories near B and soaps and
detergents factories near A. 1

9 P.T.O.
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9. = I GUBY shl Uk ST T 3T feam T | i T T w9 |1 e 3w
ygfa o1 freum T 2 7

<«—A

|

11 1
| |

| I |
| |

1 1 1

(a) 98 Wifed Tgfd w1 3Te sFawH & e A = S 908w &5; B = @ &9 a0

C=3yaHI2 |

(b) TE IUCT R TGl T e Fawdd g fad A = ot Tugwn &=, B = W &
AT C =W B |

(c) T8 o1 TUGY & 1 ey TS g o8l A = Wifed, B = @ & qen
C=3YATHIL |

(d) =8 @I & ! grtar & foad A = et Tugv e, B= @ifed aa1 C =3 %9 2 |

A
1 T Teh & TR o il % I Y TTshT T TgE g
(a) SAafafaear o gedr 2.8 Wt S ATHT Ll § |

(b) T frafiE et 2 fomehl qa savaehdrati i qfd 9 YR o o | T4 &
qret |

(c) e IgEaT® |
(d) =TT UEdia |

10. wuﬁﬁaﬁ,ﬁqﬁquﬁﬁaégﬁ,wmwmﬁwuﬁﬁaw
R ST AhaT & ?
(a) 2Q
b 1Q
(c) 25Q
@ 8Q 1
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9. A diagram of traditional water harvesting system is given below :

The statement which defines the system and its parts is

<«—A

11 1
| |

| I |
| |

1 1 1

(a) This is an ideal setting of the Khadin system and A = Catchment
area; B = Saline area & C = Shallow dugwell

(b) This 1s an ideal setting of the Shallow dugwell system and A
Catchment area; B = Saline area and C = Khadin

(¢) This 1s an ideal setting of Catchement area and A = Khadin, B
Saline area and C = Shallow dugwell

(d) This is showing Saline area and A = Catchment area; B = Khadin
and C = Shallow dugwell 1

OR
The major ill effect of mo&o culture practice in forests is on the
(a) biodiversity Wh'&‘i@ices large destruction

(b) local people @‘Iose basic_needs can no longer be met from such

forests @Q\Q
(¢) 1indust

(d) forest department 1

10. The maximum resistance which can be made using four resistors each of

resistance % Q1is

(a) 2Q

b 10

c) 25Q

@ 80 1
31/3/2. g = 11 P.T.O.
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11. oTE P 3R SFARUSR ATk ‘A’ o fordfl SeehR dTers T gfaly ‘R’ 8 | §HE
gfeRier 3R a9 ugref o 2] TS aTet foheft 311 <Teteh ST STIIRAhTE St fohHT BRI ?

(a)

(b)

(©
(d)

A
2

3A
2
2A

3A

12. 3Tk SaTsAl W I T ATGRIT Rl SATRTT Sh1ell T Id BIAT & FTTh &I

(a)
(b)
(c)
(d)

/e

T 3Tk TSl TR SeRST ST AT Fehivi el BT & |
Ffireh STgAl W aHEH TE BT § |
TV} T TS 5T ThTYT <hl TUTCE | HTHI BT BT 7 |
TeRTeT gt < 3TR Wehifvfd &1 ST & |

TRA T 13 3R 14 T 31 e fou e & f5i te 1 sAfirepem (A) a1 g

1 RO (R) gRT 3ifehd foham TR 8 | 39 T9A1 & HEl 3R @l I 1 feu e et (a),

(b),
(a)
(b)
(c
(d)

N—"

(c) 3TN (d) # & FFHT ST |
(A) 3 (R) 1 9t & 9T (R) ATk 6 wgl sarer & |
(A) 3T (R) 2T FELER (R) sHfirepert i we) =men 7 2 |

(A)aﬁ%qrﬁf(?@ 21
(A)W%@ R) 9& 2 |
@$

13. 3frwem (A) : foed swait it ex, St fogga amm Ifeat & amr=ra: fsnget
39T fepan AT R |
HRUT (R) : FpEf faaTg <t SioRiaehar SEeh! ST argati | HH=Ia: 311 gidl & 90
ot w1 srae uTq 3t <l gor § T e BT g |

14. af6ed (A) : CH,OH, CH,CH,OH @ CH,CH,CH,OH @usiidia 3ot % gee

g1

FHROT (R) : Afehi 1 UEll e, Taw w9 s Sg gial @ W T —~CH,, —
ToRTE T FHA BT B, FHSTAS S0ft hgetrd 2 |
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11. A cylindrical conductor of length ‘ and uniform area of cross section ‘A’
has resistance ‘R’. The area of cross section of another conductor of same
material and same resistance but of length ‘27’ is

A
(@) E
3A
(b) e
(c) 2A
(d) 3A 1

12. The sky appears dark to passengers flying at very high altitudes mainly
because :
(a) Scattering of light is not enough at such heights.
(b) There is no atmosphere at great heights.
(¢) The size of molecules is smaller than the wavelength of visible light.
(d) The light gets scattered towards the earth. 1

Note : For question numbers 13 and 14, two statements are given-one
labelled Assertion (A) and the other labelled Reason (R). Select
the correct answer to these questions from the codes (a), (b), (c)
and (d) as given below :
(a) Both (A) and (R) w@e true ‘and (R) 1s correct explanation of the
assertion. S\
(b) Both (A) and @ are true but (R) is not the correct explanation of the
assertion.

© (A)is :g %ut (R)'is false.
(d) (A) 1s false but (R) 1s true.

13. Assertion (A) : Alloys are commonly used in electrical heating devices
like electric iron and heater.
Reason (R): Resistivity of an alloy is generally higher than that of its
constituent metals but the alloys have low melting points then their
constituent metals. 1

14. Assertion (A) : Following are the members of a homologous series :

CH,OH, CH,CH,OH, CH,CH,CH,0OH

Reason (R) : A series of compounds with same functional group but

differing by — CH, — unit is called a homologous series. 1
31372, | EER 13 P.T.O.
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TE-"
15. = feu o qamfTe aeffetn 1 qu 3T ggfad i -
(@ NaOHg,
(i) CaCOyy +H,0p + COyy —
(i) HCl,y + HyOp —

+ Zn(s) -

AU

AU A (SITE) o fore[d 3198 & FHY THIg W h1s T ‘G gord Bl 8 | 919 39 A G
! 931 §U I T TaId TR ST 8, A1 i AMRTeh ‘C’ §aT & TS8Rt TRt ¥ o e i
ST & g i o fote fpan Sran 2 |

() ‘@3 C g foafan |

(1) B aeft i w1 gt fafau |

(iii) R “C’ T T T R E 7 FHBT TEH e A TRy | 3

16. fe@m &3 91et W H g 91t 9Ede i Seoi®@ A0 Efad hifT Safes
() oo Ferse 1 g o TR § Gerl ST # |
(ii) Mmﬁw@ﬁgﬁw%@aﬁmfwnﬁ%mwél

(iii) ﬁma@wﬁa{g@%ﬁaﬁwmﬁr{mw% 3
N

17. @9 ael X, VoS 7 o) uemiop Ee shew: 7, 8 3R 9 R |
(a) 3 Al ol 3Aeh! TRATY Bronat & wed (3TeIE) A | wafed i |
(b) T I qee B |1 e i w07 faegeht 8 s ¢
(¢) (1) X3 Y aAT (ii) X 3R Z % I ¥ & ANfires o1 g3 faafaw | 3

18. (a) uTeH i Ufsham # =t fou Tu umsignt shi yfirenT 1 oo HIfT -

() T aemsa
(i) ITEUS TSTEH
(b) & H IUFCIA I S8 TG < Gl AT hl T IR | 3
31/3/2. | EBEE 14
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Section - B

15. Complete and balance the following chemical equations :
(1) NaOH(aq) + Zn(s) —

(i) HCl,y + HyOp — 3
OR

During electrolysis of brine, a gas ‘G’ is liberated at anode. When this gas
‘G’ 1s passed through slaked lime, a compound ‘C’ is formed, which is used
for disinfecting drinking water.

(1)  Write formula of ‘G’ and ‘C’.
(11) State the chemical equation involved.

(111) What is common name of compound ‘C’ ? Give its chemical name. 3

16. Mention with reason the colour changes observed when :
(1) silver chloride is exposed to sunlight.
(1) copper powder is strongly heated in the presence of oxygen.
(111) a piece of zinc i1s d‘@ped in copper sulphate solution. 3

%%

17. Three elements-X; Y and Z have atomic numbers 7, 8 and 9 respectively.
(a) Arran em 1n the decreasing order of their atomic radii.
(b)  Which of the three is most electronegative ? Why ?

(¢) Write the formula of compound formed between
(1) XandY
(11) XandZ 3

18. (a) State the role played by the following in the process of digestion.
(1) Enzyme trypsin
(11) Enzyme lipase

(b) List two functions of finger like projections present in the small
intestine. 3

31/3/2. |EEE 15 P.T.O.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

19. (a)
(b)
(©

(a)
(b)
©)

T i gt fafae |
TS STTER TG < W 9T} Tl W Ed & | R i |

Teeh, T, e 3 |7 H MR @l ¥ e 1 qer Feifa it | 58
IwierRIIl <h foper Soft § T STar 2

arran
SIS g o fmior § qureirt faferton <1 yftrest i smen $ifs |
B dret 3rffeRa foTRaw |
CFCs (FARUA3TRY ShTa-1) T TR U =IaT o1 R A 8 7

20. Sfd 3gWE I Tl FH T ! T ST | 3T T HIF 1 hReh SR TS 6
et 3 Al I T TG HRO TEl & Tehal 8 I HT ?

21. Toreft feu 7w & a9 ot Tere % N T GG H ST TR @ a7 W T ATl oS b qe
Il gg U ST AR | 34 41 UHeN o STe Hehiur sl T 8 |

(a)

(b)

22. (a)

(b)

(©

31/3/2.
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19. (a)

(b)
(©

(a)
(b)
©)

Define ecosystem.

Autotrophs are at the first level of food chain. Give reason.

In a food chain of frogs, grass, insects and snakes assign trophic level

to frogs. To which category of consumers do they belong to ?
OR

Explain the role of UV radiation in producing ozone layer.

Mention the reaction involved.

Why is excessive use of CFCs a cause of concern ?

20. List three factors that could lead to speciation. Which of these eannot be a

major factor in the speciation of a self-pollinating plant species and why ?

21. A green stemmed rose plant denoted by GG.and a brown stemmed rose

plant denoted by gg are allowed to undergo a cross with each other.

(a)

(b)
22. (a)
(b)
(©
.31/3/2.

List your observations regarding

(1) Colour of stem & their I, progeny

(11) Percentag%&’\%rown stemmed plants in F, progeny if F; plants
are self inated.

(111) Ra@f GG and Gg in the F, progeny.

Based on the finding of this cross, what conclusion can be drawn ?

Water-has refractive index 1.33 and alcohol has refractive index 1.36.
Which of the two medium is optically denser ? Give reason for your
answer.

Draw a ray diagram to show the path of a ray of light passing
obliquely from water to alcohol.

State the relationship between angle of incidence and angle of

refraction in the above case.

) 17 P.T.O.
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23.

24.

25.

(a) THIfhd fohTuT STRE <t wETIaT & forell e o fIs0 @ TeRA aTet Iaet Tehautl Jehts
U =T U TS |

(b) fe 39 Thavfl TehTer Y 1 Ad TN o Yaet Yo & Tfaefud ot feam S ar
BT 7 3

FAoran
(a) IS e Hehe e ST aT &rd gfee gl & difed & :
(i) 39 QY B 6 ThR & F TN HT Thd & 7
(i) 39 THR & id [T THR AT SAC & 7

(b) foreft =afara =1 el gfee g <6 weMiem & fTT + 3D @ ofF a1 feke gfse Qi & forn
—3D < A <hl TEIIRAT BIdl & | 9 SIS bl GNHT H IATcd 34 91 shl BIhE
it wfterferd shifae | 3

F=ferRaa & o difse

() Toreht urrae wieft aftierent o Rl % Trepe Srmehr & Tad o d st gt
2 31YET UGG BT |

(i) AT feifed fopu S W Rl ufiforsht weh forr feom & St @ |

(iii) ﬁuﬁ(aﬁ)wgwa@éw%%wgmﬁqﬁmﬁa(m)%mw
T | gﬁ\

A .
Q _
§ EeCEk |

Tgfera TamIfes TishT forgeht Sme Shifse T = grar g Ja —

() TN TS S T fohaT SITaT 2 |

(i) I ATFETEE T R TeH1ge & Herr b1 o fohan Jram 2 |

(iii) TgfEfem i Friy sgaieTss 9 rffsha R S B |

(iv) it ATaTsS T TfHiEm & Ty o=t fFa S e |

(v) e et w1 R g g | 5
JrerE
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23. (a)

(b)

(a)

(b)

With the help of labelled ray diagram show the path followed by a
narrow beam of monochromatic light when it passes through a glass

prism.

What would happen if this beam is replaced by a narrow beam of
white light ?

OR
A person is suffering from both myopia and hypermetropia.
(1) What kind of lenses can correct this defect ?
(11) How are these lenses prepared ?

A person needs a lens of power + 3D for correcting his near vision
and —3D for correcting his distant vision. Calculate the focal lengths
of the lenses required to correct these defects.

24. Give reasons for the following :

@

(i1)

(iii)

There is either a convergence or a divergence of magnetic field lines
near the ends of a current carrying straight solenoid.

The current carryh@\solenoid when suspended freely rests along a
particular directk@
The burnt o se should be replaced by another fuse of identical
rating. Q\Q

$

Section - C

25. Write balanced chemical equations to explain what happens, when

@
(i1)
(111)
@iv)
)

31/3/2.
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Mercuric oxide is heated.

Mixture of cuprous oxide and cuprous sulphide is heated.
Aluminium is reacted with manganese dioxide.

Ferric oxide is reduced with aluminium.

Zinc carbonate undergoes calcination.

OR
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@)
(i1)
(iii)

26. (a)

(b)

27. (a)
(b)

28. (a)

(b)
(©

(a)

(b)
(©
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(1) By the transfer of electrons, illustrate the formation of bond in
magnesium chloride and identify the ions present in this compound.

(11) Ionic compounds are solids. Give reasons.

(111) With the help of a labelled diagram show the experimental set up of
action of steam on a metal. 5

26. (a) Carry out following conversions :
(1) Ethanol to ethene
(11) Ethanol to Ethanoic acid

(b) Differentiate between addition reaction and substitution reaction.
Give one example of each. 5

27. (a) How do leaves of plants help in excretion ? Explain briefly.

(b) Describe the structure and function of a nephron. 5

28. (a) Draw a diagram showing germination. of pollen on stigma of a flower
and mark on it the following organs/parts :

(1) Pollen Gralrsa\ Q®
(i) Pollen tu&%
(ii1) Stig%(b-
(1v) F&Q&% germ cell
(b) State the significance of pollen tube.
(¢) Name the parts of flower that develop after fertilization into

(1) ‘Seed

(i) Fruit 5

OR

(a) “Use of a condom 1s beneficial for both the sexes involved in a sexual
act.” Justify this statement giving two reasons.

(b) How do oral contraceptive help in avoiding pregnancies ?

(c) What is sex selective abortion ? How does it affect a healthy society ?
(State any one consequence) 5
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29. (a)
(b)

30. (a)

(b)

rferd At it foTRau qerm &k ST UTeeh i Ieoi@ I |
fopeht <fd—srea 1 31EaT 5 V 3T 500 mA & | afehfora Hife -
() 39 ¥ cd 6l Al

(i) 3T TfaUe

(iii) 2% ©e qh eI T 3Eeh GRI UL Sl 5

foreht o1 wivem H I fohe ST TR qRaT gdur <hY oshar et 5 m 2 | 3fe i e
& FP H 20 m H g W TSI &, Al Y& U0 H S IH UTEh o il i
feurfer, Srepfer ST ATt 31Tt <hITSY |

1 Tt g Fafercaes & wefifaes 1 | 3T 7 Jawr fomen 6 g farfepemss 3 T
I ThST g1 2 T T qUUl O 2 | $9 GUUT ol ehidl Wl 3ect@ ehIN 3R g1
fafercaer GRI 3TN foht ST Aol 9 H 39 UUT < 1 &I 31 VT Tl | 5

AU

=Y foret gEatEr fonive & J&T 3! sea@d femm ' | gEaiE fanivy 3 39 %1 &
foru wep foreis wepR o5 i@ h1 S9N femarm |

@

39 1 31 ThI 1 Ieei@ HINT TR FHTHH &1 STINT i 1 HRUT FIRIT |

(i) TG fORIvS 1 39 <F ! Hal @1 ATrey dies fohet foma w1 arafaes 3T

(i) =fe 3@ o H T 10'cm 3 T 39 &9 1 g 5 cm gl W @1 T,
?ﬁﬁ%'ra;r% HTeh & a1t Fidfers h feafa 3t args 71a hife | 5
§§
ofio)
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29. (a) Define Power and state its SI unit.
(b) A torch bulb is rated 5 V and 500 mA. Calculate its
(1) Power
(11) Resistances

(i11) Energy consumed when it is lighted for 2% hours. 5

30. (a) A security mirror used in a big showroom has radius of curvature 5
m. If a customer is standing at a distance of 20 m from the cash
counter, find the position, nature and size of the image formed in the
security mirror.

(b) Neha visited a dentist in his clinic. She observed.that the dentist was

holding an instrument fitted with a mirror. State the nature of this
mirror and reason for its use in the instrument used by dentist. 5

OR
Rishi went to a palmist ‘%show his palm. The palmist used a special lens
for this purpose. K\Q
(1) State the nat f the lens-and reason for its use.

(11) Where sh(&ﬁ) the palmist place/hold the lens so as to have a real and
magni% image of an object ?
(111) If the focal length of this lens is 10 cm and the lens is held at a

distance of 5 cm from the palm, use lens formula to find the position
and sizeof the image. 5
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